Exercice 9 :
12 10 2 2
—=—+ —==1+—=1,2
10 10 10 10
32 30 2 2
—=—+ —=3+—=3,2
10 10 10 10

22 - 22 10+2=10,2
10

" 10 10 10
425 400 20 5 2 5
— =—+ —+ —=4+—+—=4,25
100 100 100 100 10 100
205 200 5 5
ee—=—+ —=2+—=2,05
100 200 100 100
305 300 5 5
—=—+ —=3+—=3,05
100 100 100 100
Exercice 10 :

3 80 3 83
a.83=8+ — = —+ — = —
10 10 10 10

1 70 1 71
b.71=7+ — = —+ — = =
10 10 10 10

8 90 8 98
.98 =9+ —=—+—=—
10 10 10 10

5
d.0,05=—
100
5 5
e.508 =54 £ - 500, 8 _ 508
100 100 100 100
£1834=18+ — + — = 4 —— = = 4 =
10 100 100 100 10 100 100
Exercice 11 :
b.52,2 d.52,5 e. 80,1 h. 80, 81
Exercice 12 :

a. chiffre des centiemes
b. chiffre des dixiemes
c. chiffre des unités

d. chiffre des centaines

Exercice 13 :
a. 23 _4 03 b.2=59 .28l _58 91
100 10 100



d.2=0,5
10
Exercice 14 :
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